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BASIC CONCEPT OF TRAINS

jsyxkM+h laca/h iz'uksa dh ewyHkwr ladYiuk

 Distance = Speed × Time

nwjh = pky × le;
 Difference between Meeting and Crossing

feyus vkSj ikj djus ds chp varj

 Speed/pky  Relative Speed/lkis{k pky
S = (S

A
 – S

B
) [Same Direction] (leku fn'kk)

S = (S
A
 + S

B
) [Opposite Direction] (foijhr fn'kk)

Distance
Time =

Speed
] le; = 

njw h
pky

Generally,  Length of the train is given in
m and Speed is given in km/hr.

So, always focus on the units.

vr% lnSo bdkbZ ij è;ku nsaA

Basic points which will help in solving
questions

1. When a train crosses a man (stationary),
crosses a man walking @ 2km/hr or crosses
a man walking @ 10 km/hr.

tc ,d jsyxkM+h ,d O;fÙkQ (fLFkj) dks ikj djrh gS]
2 fdeh@ ?kaVk dh pky ls pyus okys ,d O;fÙkQ dks
ikj djrh gS ;k 10 fdeh@?kaVk dh pky ls pyus okys
,d O;fÙkQ dks ikj djrh gSA
In every case : D = L

T
 (Length of the train)

(jsyxkM+h dh yackbZ)

QUESTIONS BASED ON TRAIN

(jsyxkM+h ij vk/kfjr iz'u)

Here, D refers to the distance which the
train has covers extra with respect to the
man.

;gka D jsyxkM+h dh nwjh ls lanfHkZr gS tks jsyxkM+h O;fÙkQ
ds lanHkZ esa vfrfjÙkQ r; djrh gSA

2. Distance covered by the train when the
train crosses an object:

fdlh oLrq dks ikj djus esa jsyxkM+h }kjk r; dh xbZ nwjh
D = L

T
 + L

O

Where:

L
T
 = Length of Train

L
O
 = Length of Object

tgk¡

L
T
 = jsyxkM+h dh yackbZ

L
O
 = oLrq dh yackbZ

3. Train 1 crosses Train 2

D = L
1
 + L

2

S = S
1
 – S

2
(Same Direction)

S
1
 + S

2
(Opposite Direction)

4. Train 1 Train 2

L
1

L
2

S
1

S
2

A person sitting in Train 1 crosses Train 2.

D = L
2

S = S
1
 – S

2

Train 1 crosses a person sitting in Train 2.

D = L
1

S = S
1
 – S

2

Type-1

1. In what time a 300 m long train crosses a
tree if its speed is 90 km/hr?

fdrus le; esa 300 ehVj yEch jsyxkM+h ftldh pky
90 fdeh@?kaVk gS ,d isM+ dks ikj djrh gS\
(a) 10 sec (b) 12 sec

(c) 15 sec (d) 18 sec

2. A train crosses a pole in 28 sec. If the speed
of train is 144 km/hr. Find the length of
the train?

,d jsyxkM+h ,d •aHks dks 28 lsdaM esa ikj djrh gSA
;fn jsyxkM+h dh pky 144 fdeh@?kaVk gS rks jsyxkM+h
dh yackbZ Kkr dhft,\

(a) 1100 m (b) 1120 m

(c) 1140 m (d) 1160 m

3. A train passes a man standing on a platform
in 8 seconds and also crosses the platform
which is 264 metres long in 20 seconds.
The length of the train (in metres) is:

,d jsyxkM+h fdlh IysViQkWeZ ij •M+s O;fÙkQ dks 8 lsdaM
esa ikj djrh gS vkSj 264 ehVj yacs IysViQkeZ dks 20
lsdaM esa ikj djrh gSA jsyxkM+h dh yackbZ (ehVj esa)
gS%
(a) 188

(b) 176

(c) 175

(d) 96
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4. 150 m long train corsses a man in 8 min.
Find the speed of train in km/hr.

150 ehVj yEch Vªsu ,d O;fDr dks 8 feuV esa ikj
djrh gSA Vªsu dh pky Kkr dhft,A
(a) 62.5 km (b) 65.5 km

(c) 67.5 km (d) 67 km

Type-2

5. A train passes two bridges of lengths 800
m and 400 m in 100 seconds and 60
seconds respectively. The length of the
train is:

,d jsyxkM+h 800 ehVj vkSj 400 ehVj yackbZ ds nks
iqyksa ls Øe'k% 100 lsdaM vkSj 60 lsdaM esa xqtjrh gSA
jsyxkM+h dh yackbZ gS%
(a) 80 m (b) 90 m

(c) 200 m (d) 150 m

6. A train 280 m long is moving at a speed of
60 kmph. What is the time taken by the
train to cross a platform 220 m long?

60 fdeh çfr ?kaVs dh pky ls py jgh 280 ehVj
yach ,d jsyxkM+h 220 ehVj yacs fdlh IysViQkWeZ dks
ikj djus esa fdruk le; ysrh gS\
(a) 45 sec (b) 40 sec

(c) 35 sec (d) 30 sec

7. A 150 m long train crosses a pole in 6 sec.
In what time will it crosses a 200 m long
platform.

,d 150 ehVj yEch jsyxkM+h fdlh [kaHks dks 6 lsd.M
esa ikj djrh gSA 200 ehVj yEcs IysViQkWeZ dks ;g fdrus
le; esa ikj djsxh\
(a) 10 sec (b) 14 sec

(c) 12 sec (d) 15 sec

8. A train crosses a pole in 12 sec. In what
time will it cross a tunnel whose length is
double the length of the train?

,d jsyxkM+h fdlh [kaHks dks 12 lsd.M esa ikj djrh
gSA jsyxkM+h vius ls nksxquh yEch lqjax dks fdrus le;
esa ikj djsxh\
(a) 30 sec (b) 32 sec

(c) 35 sec (d) 36 sec

9. A train crosses a platform which length is
equal to train length in 16 sec. In what
time will it cross a bridge which length is
double of platform length?

,d jsyxkM+h viuh yackbZ ds cjkcj IysViQkWeZ dks 16
lsd.M esa ikj djrh gSA ml iqy dks ftldh yackbZ
IysViQkWeZ dh nksxquh gS fdrus le; esa ikj djsxh\
(a) 20 sec (b) 22 sec

(c) 24 sec (d) 25 sec

10. A train running at a speed of 70 km/hr,
crosses a post in 10 sec and a platform in

18 sec. In what time will it cross a tunnel
of length three times more than that of
platform?

70 fdeh@?kaVk dh pky ls nkSM+ jgh dksbZ jsyxkM+h fdlh
iksLV dks 10 lsd.M esa vkSj IysViQkWeZ dks 18 lsd.M
esa ikj djrh gSA IysViQkWeZ ls rhu xquh vf/d yach
lqjax dks fdrus le; esa ikj djsxh\
(a) 40 sec (b) 42 sec

(c) 35 sec (d) 45 sec

Type-3

11. A 50 m long train crosses a man sitting in
another train going in same direction in 10
sec. If speed of first train is 40 km/hr then

find speed of second train.

50 ehVj yach dksbZ jsyxkM+h mlh fn'kk esa tk jgs fdlh
nwljh jsyxkM+h esa cSBs fdlh O;fDr dks 10 lsd.M esa
ikj djrh gSA ;fn igyh jsyxkM+h dh pky 40 fdeh@?kaVk
gks rks nwljh jsyxkM+h dh pky Kkr dhft,A
(a) 18 km/hr (b) 20 km/hr

(c) 21 km/hr (d) 22 km/hr

12. A 180 m long train crosses a man sitting
in another train going in same direction in
12 sec. If sepeed of another train is 36 km/

hr then find the time when the first train
will cross a pole.

180 ehVj yach dksbZ jsyxkM+h mlh fn'kk esa tk jgs fdlh
nwljh jsyxkM+h esa cSBs fdlh O;fDr dks 12 lsd.M esa
ikj djrh gSA ;fn nwljh jsyxkM+h dh pky 36 fdeh@?kaVk
gks rks igyh jsyxkM+h fdlh [kaHks dks fdrus le; esa
ikj djsxh\
(a) 7.4 sec (b) 7.5 sec

(c) 7.2 sec (d) 8.5 sec

13. A 150 m long train crosses a man sitting

in another train coming from opposite
direction in 5 sec. If speed of another train
is 60 km/hr then find time taken by first

train to cross 250 m long platform.

150 ehVj yach dksbZ jsyxkM+h foijhr fn'kk esa tk jgs
fdlh nwljh jsyxkM+h esa cSBs fdlh O;fDr dks 5 lsd.M
esa ikj djrh gSA ;fn nwljh jsyxkM+h dh pky 60
fdeh@?kaVk gks rks igyh jsyxkM+h }kjk 250 ehVj yEcs
IysViQkWeZ dks ikj djus esa fy;k x;k le; Kkr dhft,A
(a) 20 sec

(b) 25 sec

(c) 30 sec

(d) 35 sec
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14. The ratio of speeds of two trains is 10:9.
The time taken by them to cross a pole is
in the ratio 4:3. If the difference between
their lengths is 156 metres then find the
length of the smaller train?

nks Vªsuksa dh pkyksa dk vuqikr 10 % 9 gSA ,d •aHks dks
ikj djus ds fy, muds }kjk fy, x, le; dk vuqikr
4 % 3 gSA ;fn mudh yEckbZ;ksa dk varj 156 ehVj gS
rks NksVh Vªsu dh yackbZ Kkr dhft,\
(a) 293 metres (b) 324 metres

(c) 351 metres (d) 378 metres

15. Two trains are moving on two parallel
tracks but in opposite directions. A person
sitting on a train running at 80km/hr
passes the second train in 18 sec. If the
length of 2nd train is 1000m, its speed is :
(in km/hr)

nks jsyxkfM+;k¡ nks lekukarj iVfj;ksa foijhr fn'kkvksa esa
py jgh gSaA 80 fdeh@?kaVk dh pky ls pyus okyh
jsyxkM+h esa cSBk dksbZ O;fÙkQ nwljh jsyxkM+h dks 18 lsdaM
esa ikj djrk gSA ;fn nwljh jsyxkM+h dh yackbZ 1000
eh gS rks mldh pky (fdeh@?kaVk esa) gS %
(a) 100 (b) 120

(c) 140 (d) 150

16. Two trains having same length cross an
electric pole in 27 sec. and 24 sec.
respectively. Then in how much time they
will cross each other if they are moving in
opposite direction.

leku yEckbZ dh nks jsyxkM+h fctyh ds ,d •EHks dks
Øe'k% 27 lsdaM vkSj 24 lsdaM esa ikj djrh gSA rks
fdrus le; esa os ,d nwljs dks ikj djsaxh ;fn os
foijhr fn'kk esa py jgh gSA
(a) 22.6 sec

(b) 25.4 sec

(c) 28.2 sec

(d) 30.8 sec

Type-4

17. Two trains of equal length crosses each
other in same direction in 1 min and in
opposite direction in 10 sec. Find the speed
(in km/hr) of trains.

leku yackbZ dh nks jsyxkM+h ,d gh fn'kk esa pyrs gq,
1 feuV esa vkSj foijhr fn'kk esa pyrs gq, 10 lsd.M
esa ,d&nwljs dks ikj djrh gSA nksuksa jsyxkM+h dh pky
(fdeh@?kaVs esa) Kkr djsaA
(a) 60, 72

(b) 60, 54

(c) 54, 48

(d) Cannot be determined

18. Two trains of equal length of 150 m, cross
each other going in same direction in 30
sec and going in opposite direction in 6 sec.
Find the speed of trains.

leku yackbZ 150 ehVj dh nks jsyxkM+h ,d gh fn'kk esa
pyrs gq, 30 lsd.M esa vkSj foijhr fn'kk esa pyrs
gq, 6 lsd.M esa ,d&nwljs dks ikj djrh gSA nksuksa jsyxkM+h
dh pky Kkr djsaA
(a) 18 m/sec, 20 m/sec

(b) 20 m/sec, 30 m/sec

(c) 22 m/sec, 20 m/sec

(d) 25 m/sec, 24 m/sec

19. Two trains 105 m and 90 m long runs at
the speed of 45 km/hr and 72 km/hr
respectively, in opposite directions on
parallel tracks. The time which they take
to cross each other is

105 ehVj vkSj 90 ehVj yach nks jsyxkfM+;k¡ Øe'k% 45
fdeh@?kaVk vkSj 72 fdeh@?kaVk dh pky ls foijhr fn'kk
esa lekukarj iVfj;ksa ij pyrh gSaA os ,d nwljs dks ikj
djus fdruk le; ysrh gSa\
(a) 8 sec

(b) 6 sec

(c) 7 sec

(d) 5 sec

20. Two trains,  80 m and 120 m long, are
running at the speed of 25 km/hr and 35
km/hr respectively in the same direction
on parallel tracks. How many seconds will
they take to pass each other?

80 ehVj vkSj 120 ehVj yach nks jsyxkfM+;k¡ Øe'k% 25
fdeh@?kaVk vkSj 35 fdeh@?kaVk dh pky ls leku fn'kk
esa lekukarj iVfj;ksa ij pyrh gSaA os ,d nwljs dks ikj
djus fdruk le; (lsdaM) ysaxh\
(a) 48

(b) 64

(c) 70

(d) 72

Type-5

21. Two trains of equal length cross a pole in
5 sec and 7 sec respectively. In what time
they will cross each other going in same
direction

nks leku yackbZ dh jsyxkM+h ,d [kaHks dks Øe'k% 5
lsd.M vkSj 7 lsd.M esa ikj djrh gSA leku fn'kk esa
pyrs gq, os ,d&nwljs dks fdrus le; esa ikj djsxh\
(a) 35 sec

(b) 30 sec

(c) 20 sec

(d) 32 sec
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22. Two trains of equal length cross a pole in
12 sec and 15 sec respectively. In what
time they will cross each other going in
same direction ?

nks leku yackbZ dh jsyxkM+h ,d [kaHks dks Øe'k% 12
lsd.M vkSj 15 lsd.M esa ikj djrh gSA leku fn'kk esa
pyrs gq, os ,d&nwljs dks fdrus le; esa ikj djsxh\
(a) 120 sec

(b) 115 sec

(c) 118 sec

(d) 125 sec

23. Two trains having ratio of length 2 : 3 cross
a pole in 8 sec and 10 sec respectively. In
what time they will cross each other going
in same direction?

nks jsyxkM+h ftldh yackbZ dk vuqikr 2 % 3 gS fdlh
[kaHks dks Øe'k% 8 lsd.M vkSj 10 lsd.M esa ikj djrh
gSA leku fn'kk esa pyrs gq, os ,d&nwljs dks fdrus
le; esa ikj djsxh\
(a) 90 sec

(b) 100 sec

(c) 110 sec

(d) 115 sec

24. Two trains of length 160 m and 180 m
respectively cross a pole in 5 sec and 6 sec
respectively. In what time they will cross
each other going in same direction?

nks jsyxkM+h ftldh yackbZ Øe'k% 160 ehVj vkSj 180
ehVj gS fdlh [kaHks dks Øe'k% 5 lsd.M vkSj 6 lsd.M
esa ikj djrh gSA leku fn'kk esa pyrs gq, os ,d&nwljs
dks fdrus le; esa ikj djsxh\
(a) 150 sec

(b) 160 sec

(c) 170 sec

(d) 180 sec

Type-6

25. Two trains cross a man standing on a
platform in 27 sec and 17 sec respectively
while in opposite direction crosses each
other in 23 sec. Find ratio of speed of the
trains?

nks jsyxkM+h fdlh IysViQkWeZ ij [kM+s ,d O;fDr dks
Øe'k% 27 lsd.M vkSj 17 lsd.M esa ikj djrh gS
tcfd foijhr fn'kk esa pyrs gq, ,d&nwljs dks 23
lsd.M esa ikj djrh gSA jsyxkM+h ds pky dk vuqikr
Kkr dhft,A
(a) 2 : 1 (b) 1 : 3

(c) 3  : 5 (d) 3 : 2

26. Two trains cross a man standing in a
platform in 18 sec and 24 sec. While
crosses each other coming from opposite
direction in 20 sec. Find ratio of speed of
the trains.

nks jsyxkM+h fdlh IysViQkWeZ ij [kM+s ,d O;fDr dks
Øe'k% 18 lsd.M vkSj 24 lsd.M esa ikj djrh gS
tcfd foijhr fn'kk esa pyrs gq, ,d&nwljs dks 20
lsd.M esa ikj djrh gSA jsyxkM+h ds pky dk vuqikr
Kkr dhft,A
(a) 3 : 2 (b) 4 : 3

(c) 2 : 1 (d) 3 : 1

27. Two trains cross a standing man in 16 sec
and 18 sec respectively while crosses each
other going in same direction in 50 sec. If
speed of first train in more than that of
second train than find ratio of speed of
both the train.

nks jsyxkM+h fdlh IysViQkWeZ ij [kM+s ,d O;fDr dks
Øe'k% 16 lsd.M vkSj 18 lsd.M esa ikj djrh gS
tcfd leku fn'kk esa pyrs gq, ,d&nwljs dks 50 lsd.M
esa ikj djrh gSA ;fn igyh jsyxkM+h dh pky nwljh ls
vf/d gks rks nksuksa jsyxkfM+;ksa ds pky dk vuqikr Kkr
dhft,A
(a) 3 : 2 (b) 4 : 3

(c) 2 : 1 (d) 3 : 1

Type-7

28. A 225 m long train is running at a speed
of 30 km/hour. How much time does it
take to cross a man running at 3 km/hour
in the same direction?

30 fdeh@?kaVs dh pky ls py jgh 225 ehVj yach
jsyxkM+h lkeku fn'kk esa 3 fdeh@?kaVs dh pky ls pyus
okys fdlh O;fÙkQ dks ikj djus esa fdruk le; ysrh
gS\
(a) 40 seconds (b) 30 seconds

(c) 25 seconds (d) 15 seconds

29. A train corsses a pole in 12 sec and crosses
a boy sitting in another train coming from
opposite direction in 4 sec. If speed of
another train in 108 km/hr then find the
length of first train.

,d jsyxkM+h fdlh [kaHks dks 12 lsd.M esa vkSj foijhr
fn'kk ls vk jgh fdlh nwljh jsyxkM+h esa cSBs ,d yM+ds
dks 4 lsd.M esa ikj djrh gSA ;fn nwljh jsyxkM+h dh
pky 108 fdeh@?kaVk gks rks igyh jsyxkM+h dh yackbZ
Kkr dhft,A
(a) 150 m (b) 180 m

(c) 160 m (d) 200 m
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30. A train crosses a man standing at a 165 m

long platform in 18 sec and crosses a man

sitting in another train coming from

opposite direction in 12 sec. If speed of

another train in 72 km/hr, then find length

of first train.

,d jsyxkM+h 165 ehVj yacs fdlh IysViQkWeZ ij [kM+s
,d O;fDr dks 18 lsd.M esa vkSj foijhr fn'kk ls vk
jgh nwljh jsyxkM+h esa cSBs O;fDr dks 12 lsd.M esa ikj
djrh gSA ;fn nwljh jsyxkM+h dh pky 72 fdeh@?kaVk
gks rks igyh jsyxkM+h dh yEckbZ Kkr dhft,A
(a) 700 m

(b) 710 m

(c) 720 m

(d) 725 m

31. A train crosses a post in 12 sec and crosses

a boy sitting in another train going in same

direction in 20 sec. If speed of another

train is 24 km/hr, then find length of the

first train.

,d jsyxkM+h fdlh [kaHks dks 12 lsd.M esa vkSj leku
fn'kk ls tk jgh fdlh nwljh jsyxkM+h esa cSBs ,d yM+ds
dks 20 lsd.M esa ikj djrh gSA ;fn nwljh jsyxkM+h dh
pky 24 fdeh@?kaVk gks rks igyh jsyxkM+h dh yackbZ
Kkr dhft,A
(a) 200 m

(b) 210 m

(c) 215 m

(d) 220 m

Type-8

32. Two trains start from a point with speed of

60 km/hr and 50 km/hr respectively in

opposite direction. Find distance between

both train after 1 hour 15 minutes.

nks jsyxkM+h fdlh fu;r fcUnq ls ,d nwljs ds foijhr
fn'kkvksa esa Øe'k% 60 fdeh@?kaVs vkSj 50 fdeh@?kaVs
dh pky ls pyuk izkjaHk djrh gSA 1 ?kaVs 15 feuV ds
ckn nksuksa jsyxkfM+;ksa ds chp dh nwjh Kkr dhft,A
(a) 132.5 km

(b) 131.5 km

(c) 135.5 km

(d) 137.5 km

33. At 7 p.m. a train left Patna station for Delhi

another train left at 5 : 30 p.m. from Delhi

station to Patna station. If speed of both

the trains are 80 km/hr and 70 km/hr

respectively and distance between both the

station is 1050 km then at what time both

trains will meet each other. Also find

distance covered by train coming from

Patna just before meeting another train.

,d jsyxkM+h vijkÉ 7 cts iVuk ls fnYyh ds fy,
vkSj nwljh jsyxkM+h vijkÉ 5% 30 cts fnYyh ls iVuk
ds fy, jokuk gksrh gSA ;fn nksuksa jsyxkM+h dh pky
Øe'k% 80 fdeh@?kaVk vkSj 70 fdeh@?kaVk vkSj nksuksa
LVs'kuksa ds chp dh nwjh 11050 fdeh gks rks os ,d
nwljs ls fdrus cts feysxh\ rFkk iVuk ls vkus okyh
jsyxkM+h feyus ls igys fdruh nwjh r; pqdh gksxh\
(a) 1 : 00 p.m., 500 km

(b) 1 : 18 p.m., 504 km

(c) 1 : 10 p.m., 500 km

(d) 2 : 00 p.m., 510 km

34. Ratio of speed of two trains is 5 : 3. Both

trains start from station A and B

respectively and meet at point P. If

distance between both station is 60 km

then find how much more distance first

train covered?

nks jsyxkfM+;ksa ds pkyksa dk vuqikr 5 % 3 gSA nksuksa
jsyxkM+h Øe'k% LVs'ku A vkSj B ls fudydj fcUnq P
ij feyrh gSA ;fn nksuksa LVs'kuksa ds chp dh nwjh 60
fdeh gks rks igyh jsyxkM+h us fdruh nwjh vf/d r;
dh\
(a) 12 km

(b) 15 km

(c) 18 km

(d) 20 km

Type-9

35. A train starts from Lucknow station for
Agra station at 4 p.m. Another train left
Agra station at 4 : 30 p.m. for Lucknow
station. If both the trains reach their
destination at 9 p.m. and 12 : 30 a.m.
respectively then find at what time both
trains meet each other?

,d jsyxkM+h y[kuÅ ls vkxjk ds fy, vgjkÉ 4 cts
fudyrh gSA nwljh jsyxkM+h vkxjk ls vijkÉ 4 % 30
cts y[kuÅ ds fy, fudyrh gSA ;fn nksuksa jsyxkM+h
vius xarO; LFkku ij Øe'k% 9 cts vijkÉ vkSj 12%30
iwokZÉ ij igq¡prh gS rks fdrus cts os ,d&nwljs ls feysxh\
(a) 7 : 14 : 37 p.m.

(b) 7 : 15 : 40 p.m.

(c) 7 : 10 : 50 p.m.

(d) 7 : 30 : 37 p.m.
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36. A train left station P at 8 p.m. and reached

station Q at 11 a.m. Another train left

station Q at 7 p.m. and reached station P

at 12 p.m. At what time both train will

meet each other?

,d jsyxkM+h LVs'ku P ls 8 cts vijkÉ esa fudyrh gS
vkSj LVs'ku Q ij iwokZÉ 11%00 cts igq¡prh gSA ,d
nwljh jsyxkM+h LVs'ku Q ls 7 cts vijkÉ esa fudyrh
gS vkSj LVs'ku P ij vijkÉ 12%00 cts igq¡prh gSA
fdrus cts os nksuksa ,d&nwljs ls feysxh\
(a) 9 : 10 p.m.

(b) 9 : 20 p.m.

(c) 9 : 25 p.m.

(d) 9 : 30 p.m.

37. A car left point A at 7 a.m. and reached

point B at 12 p.m. Another car left point B

at 7 : 30 a.m. and reached point A at 11 : 30

p.m. At what time both car had meet each

other?

,d dkj fcUnq A ls 7 cts iwokZÉ esa fudyrh gS vkSj
fcUnq B ij vijkÉ 12%00 cts igq¡prh gSA ,d nwljh
dkj fcUnq B ls 7 % 30 cts iwokZÉ esa fudyrh gS vkSj
fcUnq A ij vijkÉ 11% 30 cts igq¡prh gSA fdrus cts
os nksuksa ,d&nwljs ls feysxh\
(a) 9 : 20 a.m.

(b) 9 : 30 a.m.

(c) 9 : 35 a.m.

(d) 9 : 40 a.m.

Type-10

38. A train left Delhi station at 9 : 00 a.m. with

a speed of 60 km/hr. After 
1

1
2

 hours

another train starts from same station by

80 km/hr. If distance between Delhi and

Mumbai is 1200 km then how much

distance before Mumbai, second train will

meet first train.

,d jsyxkM+h 60 fdeh@?kaVs dh pky ls fnYyh ls iwokZÉ
9 % 00 cts fudyrh gSA Ms<+ ?kaVs ds ckn ,d nwljh
jsyxkM+h mlh LVs'ku ls 80 fdeh@?kaVs dh pky ls fudyrh
gSA ;fn fnYyh vkSj eqacbZ ds chp dh nwjh 1200 fdeh
gks rks eqacbZ ls fdrus fdeh igys nwljh jsyxkM+h igyh
jsyxkM+h ls feysxh\
(a) 800 km

(b) 820 km

(c) 840 km

(d) 850 km

39. A train starts from Patna at 5 : 00 p.m. with
a speed of 70 km/hr. After 3 hours, another
train starts from Patna with a speed of 80
km/hr. If both train meet each other at 80
km before Mumbai. Find the distance
between Patna and Mumbai.

,d jsyxkM+h 70 fdeh@?kaVk dh pky ls iVuk ls vijkÉ
5 cts fudyrh gSA 3 ?kaVs ckn ,d nwljh jsyxkM+h ls
80 fdeh@?kaVs dh pky ls fudyrh gSA ;fn nksuksa jsyxkM+h
eqacbZ ls 80 fdeh igys feyrh gS rks iVuk ls eqacbZ dh
nwjh Kkr dhft,A
(a) 1700 km (b) 1740 km

(c) 1760 km (d) 1800 km

40. Speed of two trains are 80 km/hr and 105
km/hr respectively. Both trains start at
same time in same direction for certain
destination. After how much time distance
between both train is 160 km?

nks jsyxkfM+;ksa dh pky Øe'k% 80 fdeh@?kaVk vkSj 105
fdeh@?kaVk gSA nksuksa jsyxkM+h leku fn'kk esa fdlh fuf'pr
xarO; LFkku ds fy, leku le; ij jokuk gksrh gSA
fdrus le; ckn nksuksa jsyxkfM+;ksa ds chp dh nwjh 160
fdeh gksxh\
(a) 6 hrs 24 min (b) 6 hrs 30 min

(c) 5 hrs 24 min (d) 6 hrs 36 min

Type-11

41. A train crosses two cyclists in same
direction in 12 seconds and 16 seconds
respectively. If the speed of cyclist is 3 km/
hr and 5 km/hr respectively then find
length of the train.

,d jsyxkM+h leku fn'kk esa] 3 fdeh@?kaVk vkSj 5
fdeh@?kaVk dh pky ls pyus okys nks lkbZfdy pkydksa
dks Øe'k% 12 lsdaM vkSj 16 lsdaM esa ikj djrh gS rks
jsyxkM+h dh yackbZ Kkr dhft,A

(a)
80

3
 m (b)

80

5
 m

(c) 80 m (d) 75 m

42. A train crosses two cyclists in same
direction in 12 seconds and 15 seconds
respectively. Speed of cyclists are 18 km/
hr and 21 km/hr respectively. Length of
train is :

,d jsyxkM+h leku fn'kk esa] 18 fdeh@?kaVk vkSj 21
fdeh@?kaVk dh pky ls pyus okys nks lkbZfdy pkydksa
dks Øe'k% 12 lsdaM vkSj 15 lsdaM esa ikj djrh gSA
jsyxkM+h dh yackbZ gS %
(a) 40 m (b) 45 m

(c) 50 m (d) 55 m

https://t.me/mathsbyadityaranjan
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43. A train passes two persons walking in the
same directions as of train at a speed of 3
km/hr and 5 km/hr respectively in 10
seconds and 11 seconds respectively. The
speed of the train is

,d jsyxkM+h leku fn'kk esa] 3 fdeh@?kaVk vkSj 5
fdeh@?kaVk dh pky ls pyus okys nks O;fÙkQ;ks dks Øe'k%
10 lsdaM vkSj 11 lsdaM esa ikj djrh gSA jsyxkM+h dh
pky gS%
(a) 28 km/hr

(b) 27 km/hr

(c) 25 km/hr

(d) 24 km/hr

44. A train passes two persons walking with
speed of 5 m/s and 10 m/s in 6 seconds
and 5 seconds respectively. Both persons
are walking in opposite direction train. Find
the length of train?

,d jsyxkM+h 5 eh@ls ,oa 10 eh@ls dh pky ls py
jgs nks O;fÙkQ;ksa dks Øe'k% 6 lsds.M ,oa 5 lsds.M esa
ikj dj ysrh gSA ;s nksuksa O;fÙkQ jsyxkM+h ds foijhr
fn'kk esa py jgs gSaA xkM+h dh yEckbZ crk,¡\
(a) 125 m

(b) 150 m

(c) 160 m

(d) 170 m

Type-12 (Questions based on Fog)

45. A carriage driving in fog passed a man who
was walking at the rate of 6km/hr, in the
same direction. He could see the carriage
for 4 minutes and if visibility was 200m,
the speed of the carriage was:

dksgjs es a pyus okyh ,d xkM+h] leku fn'kk es a
6 fdeh@?kaVk dh pky ls pyus okys ,d O;fDr dks
ikj djrh gSA og xkM+h dks 4 feuV rd ns• ldrk gS
vkSj ;fn ǹ';rk 200 ehVj Fkh] rks xkM+h dh pky Fkh%
(a) 8.75 km/h

(b) 8.5 km/h

(c) 8 km/h

(d) 9 km/h

46. A man could see 400 m during fog when he
was moving with 4 Km/hr, he saw a train
coming from behind & disappeared in 3
minute if the length of train is 200 m, find
the speed of the train?

,d O;fÙkQ dksgjs ds nkSjku 400 ehVj ns• ldrk gS
tc og 4 fdeh@?kaVk ls pyrk gS rks  mlus ns•k fd
,d jsyxkM+h ihNs ls vkrh gS vkSj 3 feuV esa xk;c gks
tkrh gS ;fn jsyxkM+h dh yackbZ 200 ehVj gS] rks jsyxkM+h
dh pky Kkr djsa\

(a) 20 km/hr

(b) 24 km/hr

(c) 30 km/hr

(d) 40 km/hr

47. A train crosses a man going along the
railway track at 6 Km/hr. The man could
see the train upto 2 minute and find the

speed of the train if at the time of
disappearance the distance between train
to man was 1200 metre & length of train

is 300 metre ?

6 fdeh@?kaVk dh pky ls tk jgs fdlh O;fÙkQ dks leku
fn'kk esa gh pyrh gqbZ ,d jsyxkM+h ikj djrh gSA O;fÙkQ
jsyxkM+h dks 2 feuV rd ns• ldrk gS vkSj ;g mldks
1200 eh rd fn•kbZ nsrh gSA ;fn jsyxkM+h dh yEckbZ
300 eh gks] rks jsyxkM+h dh pky crk,a\
(a) 39 km/hr

(b) 45 km/hr

(c) 51 km/hr

(d) 57 km/hr

Type-13 (Questions based on Accident of train)

48. A train meets with an accident after
travelling 30 kms, after which it moves

with 
4

5
  of its original speed and arrives

at the destination 45 minute late. Had the

accident occurred 18 kms farther, it would
have reached 9 minute earlier. Find the
distance of the journey and original speed

of the train.

,d jsyxkM+h dh 30 fdyksehVj dh ;k=kk djus ds ckn
nq?kZVukxzLr gks tkrh gS] ftlds ckn og viuh ewy

pky ds 
4

5
 ds lkFk pyrh gS vkSj 45 feuV nsjh ls

xarO; ij igqaprh gSA ;fn nq?kZVuk 18 fdyksehVj vkSj
vkxs gqbZ gksrh] rks ;g 9 feuV igys igqap tkrhA ;k=kk
dh nwjh vkSj jsyxkM+h dh ewy pky Kkr dhft,\
(a) 120 km, 25 km/hr

(b) 125 km, 25 km/hr

(c) 130 km, 30 km/hr

(d) 120 km, 30 km/hr

49. A train starts from Delhi at 8:00 am. After

6 Hrs. there was a breakdown in the train,

due to which it travels 
2

3
 of its normal

speed and hence becomes 40 mins late. If
the breakdown occurred 200 km farther
then it would have reached its destination

30 min late. Find the distance covered by
the train ?
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Answer Key

1.(b) 2.(b) 3.(b) 4.(c) 5.(c) 6.(d) 7.(b) 8.(d) 9.(c) 10.(b)

11.(d) 12.(c) 13.(c) 14.(b) 15.(b) 16.(b) 17.(d) 18.(b) 19.(b) 20.(d)

21.(a) 22.(a) 23.(b) 24.(c) 25.(d) 26.(c) 27.(c) 28.(b) 29.(b) 30.(c)

31.(a) 32.(d) 33.(b) 34.(b) 35.(a) 36.(d) 37.(b) 38.(c) 39.(c) 40.(a)

41.(a) 42.(c) 43.(c) 44.(b) 45.(d) 46.(b) 47.(c) 48.(d) 49.(c) 50.(a)

,d jsyxkM+h fnYyh ls lqcg 8%00 cts pyuk çkjaHk
djrh gSA 6 ?kaVs ckn] jsyxkM+h esa ,d czsdMkmu gqvk

ftlds ckn ;g viuh lkekU; pky ds 
2

3
 ls ;k=kk

djrh gS vkSj blfy, 40 feuV nsjh ls igq¡prh gSA ;fn
czsdMkmu 200 fdyksehVj vkSj nwj gqvk gksrk rks ;g
30 feuV nsjh ls vius xarO; rd igqap tkrhA jsyxkM+h
}kjk r; dh xbZ nwjh Kkr dhft,\
(a) 2800 km

(b) 3600 km

(c) 4400 km

(d) 5200 km

50. A man starts from his home to his office
with a certain speed but after 1 hr., meets
with an accident & resumes his journey
after 1 Hr and becomes 1 hr 36 min late

due to reducing his speed to 
5

6
. If the

accident had occurred after 50 Km then he
will be late by 1 Hr 20 min. Find the
distance from home to office?

,d O;fÙkQ ,d fuf'pr pky ls vius ?kj ls vius
nÝrj ds fy, fudyrk gS] ysfdu 1 ?kaVs ds ckn] mlds
lkFk ,d nq?kZVuk gksrh gS vkSj og viuh ;k=kk 1 ?kaVs

ds ckn 'kq: djrk gS vkSj viuh pky dks 
5

6
 rd

de djus ds dkj.k 1 ?kaVs 36 feuV nsjh ls igqaprk gSA
;fn nq?kZVuk 50 fdyksehVj ds ckn ?kfVr gksrh] rks og
1 ?kaVs 20 feuV nsjh ls igqaprkA ?kj ls nÝrj dh nwjh
dk irk yxk,a\
(a) 112.5 km (b) 150 km

(c) 187.5 km (d) 225 km
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